Benchmark TSP Project COSC 6367
Assumption: Cities are numbered 0,…,n-1 (n is the number of cities for the problem); moreover, you can assume that all cities are connected with the cost of traveling from one city to another city being defined by a cost function. In this project we will use the cost functions c1, c2, and c3 that are defined below.
Benchmark Elements: 3 cost functions c1, c2, and c3 are used in the project; typical values for n (#-of-cities) include: 12, 25, and 50.

c1(x,y)= if x=y then 0

              else if x<3 and y<3 then 1

              else if x<3 then 200

              else if y<3 then 200

              else mod(x,7)= mod(y,7) then 2

              else |x-y|+3

c2(x,y)= if x=y then 0

              else if x+y<10 then |x-y|+4
              else if mod(x+y,60)=37 then 3
              else (|x-y|**2)+10

c3(x,y)= if x=y then 0

              else (x+y)**2

Example Cost Computations(n=5): 

Cost(0-1-2-3-4,c1)= 1+1+200+4+200=406

Cost(0-1-2-3-4,c3) = 1 + 9 + 25 +49 +16=100

Cost(0-2-4-1-3,c3) = 4+ 36 +25 +16 +9=90

What results to report?
Run your programs for the cost functions c1, c2, and c3 and the following values for n: 12, 25, 50.  Additionally, if feasible, run your program for c1 and c2 for n=80. The best solutions found and their cost and wall clock time needed for those 11 test cases should be included in your report; if your were not able the results due to time limitations, space limitations, program error, report TL, SL, PE for the particular test case. The running of the program should be limited to 20 minutes for each test case; if your program needs more than 20 minutes to complete a test-case report ‘TL’.  However, for n=80 you can run your program for 3 hours.
Academic Honesty:
Reporting false results or solutions that were not obtained by running your programs is an academic honesty violation.

